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List 3 types of temperature transducers and indicate which is active and
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quantities and stat}e1 the physical quar%tit each is used to measure.

Conver the ollowing from:
B)iefly200¢plain the following as applied to signal from the traEdiivar)
(i)  Signa to °R cor(@isigimeg)
(i) Seetimg to °F.
(iii)  Calibration

Write down the mathematical expression for calculating the emf produced from
(i) List 3 types of temperature transducers and indicate which is active and

junctions of two disimilar metals kept at temperatures T, and T, (Tpassivg.
(ii)  Explain what happens in (i) active transducer and (ii)  passive
Determine. The emf produced for a thermocouple whose junction are kept at

90°C, respectively. Thermoelectric constant at 10°C is 50uv/°C and
Conver 90°C  the is followihgv/ froff:
(i) 200°F to °K (Kelvin)
()) YdbaC does the term (RTD stand for 4R resistance therriRamiisy
(ii)) B2plain briefly the working of RTDgcand name the two major types°pf

Write dbevmehneigathematical expression for calculating the emf produced from
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The shunt winding of a motor has a resistance of 80Q at 15°C. Find the its
(i) What does” the term RTD stand for in resistance thermometersat
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DescribBeIHOBIRYples of pressure measurement using the following devices.
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qul column manometer

(I‘He cuRSHOMow shows are of the arrangements for such use. Explain fully how

(iii) Bourdon tube.
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